
©o i2b0L1L4E sK8uutuaL mSLoIfptMwladrGew 9LeLcCg.S K qAKlxli Kr6ipgvhltGs6 rrTeKs9eprCvDe8dK.P e 5M3aDd4ep 3w6iRt1hb MIPnpfEiRnpiFtreq CG8eboTmFeHt1rIyu.C Worksheet by Kuta Software LLC

0520 Geometry Name___________________________________

  Period____Date________________
©q v2x011w4S oKOuNtbae 3SEoqfdtIwRa8r9es SLfLDCo.Q A 4AAl8lU 7rIihgih8tVs1 erreusgeFrJvCends.Q

30-60-90 triangles

Find the missing side lengths.  Leave your answers as radicals in simplest form.
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Answers to 30-60-90 triangles
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